MA111-011 Exam 1 Name:

Alex Blair Casey Devin Gayl Lee Nikki Sonia Toni
1st | Ovid's Panera Panera Subway DPanera Panera Panera Subway Subway
1. 2nd | Panera Subway Subway Ovid’s Subway Subway Subway Ovid’s Ovid’s
3rd | Subway Ovid’s  Ovid’'s Pancra Ovid’s Ovid's Ovid’s Panera Panera
4th | Fazoli's Fazoli's Fazoli’s Fazoli's Fazoli's Fazoli's Fazoli’'s Fazoli's Fazoli’s

(a) Convert this set of ballots into a preference schedule.
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1st | Ovid’s Panera Subway Fazoli's
2nd | Panera Subway Ovid’s  Ovid’s
3rd | Subway Ovid’s Panera Panera
4th | Fazoli’s Fazoli’s Fazoli’s Subway

Your answer:

(b) How many voters voted and how many are needed to form a majority in this election?

(d) In Ovid’s versus Panera head-to-head matchup, whose votes does each restaurant get?
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2. Here is a preference schedule.

(a) Show work: Who wins using plurality?

1st
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Who wins using plurality
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(¢) Show work: Who wins using pairwi
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(d) Show work: Who wins using the full Borda count?
{4 points for first, 3 points for second, 2 points for third, 1 point for last;

“%EZ#.OI‘ faster 2 points for first, 1 point for second, 9 points for tl_’lird, -1 point for last)
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MA111-011 Exam 1 Name: ! {

Alex Blair Casey Devin Gayl Lee Nikki Sonia Toni
1st | Ovid's  Owvid’s Subway Subway Ovid’s Subway BSubway Panera Subway
1. ond | Panera Panera Ovid’s Ovid’'s Panera Ovid's  Ovid's Subway Ovid’s
3rd | Subway Subway Panera Panera Subway Panera Panera Ovid’'s Panera
4th | Fazoli’s Fagzoli's Fazoli’s Fazoli's Fazoli's Fazoli’s Fazoli's Fazoli's Fazoli's

(a) Convert this set; of ballots into a preference schedule.

1st | Ovid's Panera Subway Fazoli’s
2nd | Panera Subway Ovids Ovid's
ard | Subway Ovid's Panera Panera
4th | Fazoli's Fazoli's Fazoli's Subway

Your answer:

(b) How many voters voted and how many are needed to form a majority in this election?

(¢) If you eliminate Panera, what does the new preference schedule look like?

(¢) Name one restaurant that is NOT a Condorcet winner. Explain why.



2. Here is a preference schedule.

(a) Show work: Who wins using plurality?

1st
2nd
3rd
4th
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(d) Show work: Who wins using the full Borda count?
(4 points for first, 3 points for second, 2 points for third, 1 point for last;

or faster 2 points for first, 1 peint for second, 0 points for third, -1 point for last)
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MAI111-011 Exam 1 Name:

Alex Blair Casey Devin Gayl Lee Nikki Sonia Toni
1st | Ovid’s Ovid’s Panera Panera Owvid’'s Ovid’s Ovid's Panera Subway

1. o2nd | Panera Panera Subway Subway Panera Panera Panera Subway Ovid’s
3rd | Subway Subway Ovid's  Ovid’'s Subway Subway Subway Ovid's Panera
4th | Fazoli’s Fazoli's Fazoli's Fazoli's Fazoli's Fazoli's Fagoli's Fazoli's Fazoli’s

(a) Convert this set of ballgts into a preference schedule.
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1st | Ovid’s Panera Subway Fazoli's
ond | Panera Subway Ovid's  Ovid’s
3rd | Subway Ovwid's Panera Panera
4th | Fagoli’s Fazoli’s Fazoli's Subway

Your answer:

(b) How many voters voted and how many are needed to form a majority in this election?

(¢) If you eliminate Panera, what does the new preference schedule look like?
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(d) In Ovid’s versus Panera head-to-head matchup, whose votes does each restaurant get?

(e) Name one restaurant that is NOT a Condorcet winner. Explain why.



2. Hereis a preference schedule.
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{d) Show work: Who wins using the full Borda count?
(4 points for first, 3 points for second, 2 points for third, 1 point for last;

“fé;*;ﬁor faster 2 points for first, 1 point for second, 0 peinss for third, -1 point for last)
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